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| 700
< 210
Al 490
— o223 TAE 70,000& %903l 6,300
J| 3,150
< 945
Al 2,205
AutS A S 8,400
| 4,200
< 1,260
Al 2,940
AL HI B &S 8,400
OaH 2XNLE s 20,0003 20 x5 2,000
| 1,000
= 300
Al 700
O&adH 2XIAHEA 20,0003 x20H « 163 6,400
| 3,200
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Al 2,240
pI2tol & 82,000
J| 41,000
= 12,300
Al 28,700
oz =Hl 82,000
Og=zaAazzel Ml 5,000& *3,000% *43| 60,000
| 30,000
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Al 21,000
OXIOHZED| H&HI 80,000& »150H 12,000
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AL E2E S0 Y2 126,000
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< 13,224
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
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Al 1,400
—s3dsE=s Y 920,000& *8& 7,360
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< 1,104
Al 2,576
— 2ot ogERE 2208 2Y
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| 1,620
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Al 1,732
— gL 120,000& *253] 3,000
| 1,500
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— HIBHZ & 120,000& *203] 2,400
| 1,200
< 360
Al 840




2N HLSE
HM: BAHOYZMHIAXK(EH/BAHAAZR)
Sl SEAYSA CER-ED
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
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Al 756
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J| 4,520
== 1,356
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Al 1,120
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J| 1,000
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0,000 *4% x24 3] 3,840
J| 1,920
& 576
Al 1,344
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OGAH I AIY S AHER 45
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O dE2EE SFYHSHA 11,0003 400 4,400
J| 2,200
= 660
Al 1,540
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AN A2SE D
= BAAZMUIAXA(BA/BEHAAZ)
Col: SEALESA (ctel:&2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 10,675
201 et 6,000 5,000 1,000
J| 3,000
< 900
Al 2,100
01 At 22l 6,000 5,000 1,000
Ogt=&H| 6,000
— PABHAEE EBES2E L MAAM13B
) 6,000
J| 3,000
< 900
Al 2,100
307 gl2tol & 24,500 25,312 AB12
J| 12,250
< 3,675
Al 8,575
01 2224l 24,500 25,312 AB12
Osax%s ¢ M= 4,000& 5,000 20,000
J| 10,000
< 3,000
Al 7,000
O EAHAAM2I WE 225,000& 208 4,500
J| 2,250
< 675
Al 1,575
HEOMEOISS & FAEHA 95,500 87,300 8,200
J| 47,750
< 14,325
Al 33,425
201 Let24d] 4,000 4,000 0
J| 2,000
< 600
Al 1,400
01 At 22l 4,000 4,000 0
Oget=gH| 3,560
—cBd EE2 MEH(43B) 3,560
J| 1,780
= 534
Al 1,246
o2g+g 440
-GS 110, 000& *43] 440
J| 220
< 66
Al 154
307 21201 A 91,500 83,300 8,200
J| 45,750
< 13,725
Al 32,025




AN A2SE D
= BAAZMUIAXA(BA/BEHAAZ)
el SEALEA (SHol: @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 22724l 91,500 83,300 8,200
Oget® & R0 25 A S| 82,000
J| 41,000
< 12,300
Al 28,700
OEZH 8,700
J| 4,350
< 1,305
Al 3,045
O Z LAl 800
J| 400
< 120
Al 280
SgALsHNHERI 116,046 152,536 36,490
J| 58,023
< 17,407
Al 40,616
101 @124l 113,166 145,336 A 32,170
J| 56,583
< 16,975
Al 39,608
04 JIZHHZ2Z2XNHESE S+ 113,166 145,336 A 32,170
OJ1g= 1,650,000& x10& x6H 99,000
J| 49,500
< 14,850
Al 34,650
Ogxt==¢ 55,0003 <103 +6H 3,300
J| 1,650
< 495
Al 1,155
Ozl 8,000
J| 4,000
< 1,200
Al 2,800
Ou=0tl 2,266
J| 1,133
< 340
Al 793
o=l 100,000& 6 600
J| 300
< 90
Al 210
201 LBt2d| 2,880 7,200 AN 4,320
J| 1,440
= 432
Al 1,008
01 At 22l 2,880 7,200 A 4,320
Od 2o E g =t 240,000& »12H 2,880
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& 1,500
Al 3,500
201 LBt | 10,000 4,500 5,500
J| 5,000
& 1,500
Al 3,500
01 AP 22| d| 10,000 4,500 5,500
OgBte=24| 7,600
—EBE8ERY(E) 1,520,000 x53] 7,600
J| 3,800
& 1,140
Al 2,660
o2d94d 2,400
— AASE 120, 000& x203] 2,400
J| 1,200
& 360
Al 840
ALS X 2,119,717 1,324,702 795,015
= 250,000
Xl 25,960
J| 195,031
= 229,440
Al 1,419,286
MDAIMOF HA 22 AP X 34,210 41,000 N6,790
Xl 25,960
& 2,475
Al 5,775
301 et A= 34,210 41,000 A6,790
Xl 25,960
= 2,475
Al 5,775
01 Al E & A 462 34,210 41,000 AN6,790
O AIMOF A2 22l At 34,210
Xl 25,960
o=} 2,475
Al 5,775
AL0tHLH A 6,199 6,199 0
J| 4,959
& 620
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307 QI2t0| ™ 4,042 4,042 0
J| 3,232
= 405
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AN A2SE D
= BAAZMUIAXA(BA/BEHAAZ)
el AST (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—dZMEARTAL BAY
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sSgHEExd 4,000 3,660 340
405 RHoHF S HI 4,000 3,660 340
01 AL EZFH S 4,000 3,660 340
OSdHU=sE HZE2 105 4,000
HLY=HEA2IE 8,000 8,000 0
201 L2l 8,000 8,000 0
03 &Ar2 I 8,000 8,000 0
OHLEHEA 2L (Ot HEHMSAA) 8,000
AMOIHE RII8H 2,100 7,444 A5,344
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307 21201 A 2,100 7,444 A5,344
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Al 525
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Al 3,350
01 22724l 13,400 12,288 1,112
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Al 3,350
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2N HLSE
HM: BAHOYZMHIAXK(EH/BAHAAZR)
el AT (el @2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 8,700
o1 osed =4l 34,800 38,960 A4 160
O0l=0F & A& AE0|A0F 22| 34,800
J| 17,400
& 8,700
Al 8,700
HASEEXRA 109, 130 117,984 N 8,854
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J| 7,965
= 3,983
Al 3,082
04 JI2ZtHIZ22NEES 15,930 14,680 1,250
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J| 7,965
& 3,983
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J| 46,600
= 23,300
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o1 s R=tl 93,200 103,304 A 10,104
OelZ243d Al=H| 19,560
J| 9,780
& 4,890
Al 4,890
OMAx+=H A=t 73,640
J| 36,820
&< 18,410
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E=22204+F M 580 580 0
J| 290
& 145
Al 145
403 XX SHHS K20 & 580 580 0
J| 290
& 145
Al 145
02 2|2t 0l CHSHCH & A HI 580 580 0
ORXEAH=& M2 580
J| 290
= 145
Al 145
HAGMD AASA oS HI X 4,800 4,800 0
J| 2,400
o=} 1,200
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2N HLSE
HM: BAHOYZMHIAXK(EH/BAHAAZR)
chel: AYEA CEEEED
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
Al 40
01 At 2t2l ] 80 0 80
OSSN S M 80
J| 40
Al 40
NEAMIIBSESAHAAMEIA 207,984 0 207,984
Jl 103,992
= 32,300
Al 71,692
101 @1 21| 38,100 0 38,100
J| 19,050
& 5,917
Al 13,133
04 JIZtHIZ22E NS E 38,100 0 38,100
oJlea 1,650,000 x10& x2H 33,000
J| 16,500
& 5,125
Al 11,375
O X< 55,0003 x10& *2H 1,100
J| 550
= 170
Al 380
O&&0H| 100,000 x10& x2H 2,000
J| 1,000
o= 311
Al 689
Ous % ot 1,000,000& «2H 2,000
J| 1,000
= 311
Al 689
201 Bt A H| 141,284 0 141,284
J| 70,642
& 21,941
Al 48,701
01 At 22l ] 141,284 0 141,284
OAIE & 2 HOESH S&F 22l 50 1,500
J| 750
& 233
Al 517
O=EE2EME & Us 3,784
J| 1,892
= 588
Al 1,304
O2HH2 XA 1A 5,000
J| 2,500
& 776
Al 1,724
O3 T X EAx| 56,000




A AYETD
= BAAZMUIAXA(BA/BEHAAZ)
Eel: ALEA @)
S B G(SA) - NRANY - BES il 2
J| 28,000
= 8,696
Al 19,304
OJIgH & o 04 X 20,000
J| 10,000
< 3,106
Al 6,894
osgu EB(39HA NE S) 30,000
J| 15,000
=) 4,660
Al 10,340
O=¢ &3 == 50,000& *500 25,000
Jl| 12,500
< 3,882
Al 8,618
405 XtatE SHI 28,600 28,600
J| 14,300
< 4,442
Al 9,858
01 ML =EF 28,600 28,600
OlHz*= DA(2CH) 10,000
J| 5,000
< 1,553
Al 3,447
O=da&# 2 IILHES) 5,000
J| 2,500
< 7
Al 1,723
OCO=EF JI( g 23) 13,600
J| 6,800
= 2,112
Al 4,688
ANAotsdy A2 [Hl Al 4,500 4,500
=) 4,500
201 L2l 4,500 4,500
=) 4,500
01 At 22l 4,500 4,500
Os:2Hl 200, 000& »23] 400
< 400
ooz + 22F(10) 200
< 200
Ou=siz 100,000 100 & x 1204 & 1,200
< 1,200
OFafzgni 3= 100,000& *123= %23 2,400
< 2,400
@Fal2gniy= d=
6,000% *5000 / 100 & 300
= 300
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el

AYSE D
SAARMUIATR (22 /SAR)
TREESE R

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Ord & Eh 2t 513,746 580,326 N 66,580
= 17,097
J| 203,214
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B 100,000& x12& 1L 1,200
— Il =l 200
— = (22l) 100,000& 53! 500

sgdLdsdAll 145,964 145,964 0
Il 72,982
21,895
Al 51,087

H

101 1Al 145,964 145,964 0
Jl 72,982
21,895
Al 51,087

H

03 RIHAZ 22 145,964 145,964 0

OJlzs 1,650,000& 123 »6H 118,800
Jl 59,400
17,820
41,580
200,000& 128 6 14,400
Il 7,200
2,160
Al 5,040
Ou=0tl 2,264
Jl 1,132
340
Al 792

O
1A
0z
=]
=
=

H

H




SN ALSD
M HE2IZH(AZSE ) (IIEH/IIE
el 2| (&)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
o1l =l 100,000& 6H 600
J| 300
< 90
Al 210
O&&Z 1,650,000& 6 9,900
| 4,950
< 1,485
Al 3,465
AMALSTHEH SALA 12| 64,000 54,800 9,200
| 32,000
Al 32,000
101 @144 Hl 64,000 54,800 9,200
| 32,000
Al 32,000
03 RIAHAZ 2B+ 64,000 54,800 9,200
OFMALSTHE 22 0l
2,625,000& x 128 2 63,000
| 31,500
Al 31,500
OFAEH2HA 2A=HNHI 1,000
| 500
Al 500
MNALSTEH & SML SX=E 1,272 0 1,272
< 636
Al 636
101 @124l 1,272 0 1,272
< 636
Al 636
03 RIAHA2ZZ2HE > 1,272 0 1,272
OFUALSHEEH S SAKL 2X=E
53,0003 x 1201 & x2H 1,272
< 636
Al 636
Ztl 124,912 107,992 16,920
=24l 124,912 107,992 16,920
201 L2l 21,672 19,152 2,520
01 At 22l 21,672 19,152 2,520
ORNEY Jl2H| 21,672
202 4l 99,040 84,640 14,400
01 208l 99,040 84,640 14,400
O=0 bl 99,040
203 R =&l 4,200 4,200 0
04 EAN2I LRI 4,200 4,200 0
ORNEY YREX 4,200
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